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% | The peakiinverse voltage (PIV) of diode in center tapped full wave
IS twice the transformer secondary terminal voltage.

* | Center tapped rectifier uses only two diodes in its circult. :

* | Voltage drop.across the two diodes of center tapped rectifier is less
compared to bridge rectifier,

Bridge rectifier:

No center tapped transformeris required in bridged rectifier.

Peak inverse voltage PIV of diode is equal to the transformer

voltage, Thus this type of rectifiér can be Used for high voltage

application

Bridge rectifier uses fourdiodesTn its ircuit’

The Voltage drop across the 4 dicdes of bridge rectifier is more.

veltage drop across centertapped rectifier:
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(c): Advantages of RC filter;

An Refilter allows the peak value of the rectified signal to pass through the load
fesister Ris much greater than the Xc at the ripple frequency. Therefore the ripple s
feduced before it reach to the load. Typically Ris 10 times larger than Xc.
section attenuates the ripple by a factor of 10.

Disadvantages of RC filter;

‘The disadvantage of anRC filter the lossiof de voltage acroSs each R, Because- ~of this,
filter is suitable only for very light Ioads (smalHoad current or large load resistance).

Advantages of LC filter:
The choke input (L C) filer has.a highoutpu! DiCvoltage.

It has no loading effect on'the réliier and power transformer
The diode does nol have to carry stitge currents:

It has & very low rippie faclor a8 comparedHo sefies inductor fiter and shunt
It hls very good foad requlation.
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(@) : we discuss the effect of transfon
rectifier.

©  Inone tum ratio the rectified peak voltage equal to the haif vaiue of input voitage
atthe primary side minus the voltage across a potential barier
Due to double voltage at secondary side, haif valte of voltage wil appear acioss
the half part of the secondary winding and equal to the Vpri,
* Tominimize the voltage drop across the potential barrier and o make an output
voltage peak equal to the input voltage peak we used transiormer having turm
ratio 2
* fthe number of tums in primary windings and secondary windings is equal then
the turn of ratio of a transformer will be one.
(b) : center tapped rectifier:
* Center tapped rectifier as the name suggest is requires a center tapped
transformer (secondary winding).

mer turm ratio on the output voliage of full-wave
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bisstsied

Thevenin voltage: V= Voo,

b. the resistance that an ohmmeter measures ‘across the oad Mnlmlsvnnr;lll m’
reduced to zero and the load resistor s open, As a definition: - - -

Thevenin resistance: R Roo =

The resons for using a_Norton circuit are;

@ the load current when the load resistor is shorted is called Norton current. Because of this,
the Norton current is sometimes called short- circuit ¢ urrent. As a defi nition:

Norton current: i .
b. the resistance that an chmmeter -across the load terminals when all 5o
reduced to zero and the load resi pen is called Norton resistance. As a d

Norton resistance: Ru=Roc
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Ans:

1.(b): The third approximation does the technician normally use when performing initial
troubleshooting procedures because technicians usually satisfies the following equati

Ignore bulk: RB < 0.0Rm

This says to ignore the bulk resistance when it is less than 1/100 of the Thevenin_resistance facing
the diode, When this condition s satisfied, the error s less than 1-percent.

Ans:

1c): The

resons for using a Thevenin circuit are;

a, the voltage across the load terminals when the load resistor is open s called Thevenin'
V. Because of this, the Thevenin voltage is sometimes called the open-dmuilvolm
nition:

Thevenin voltage: VTH = Voc




